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1. A company manufacturing bolts produces bolts that weigh 0.86 grams (g) on average with a variance
of 0.04 g?. To verify that bolts are being produced as expected, 72 bolts are weighed together and
their sample mean is computed.

(a) What is the expected value of the sample mean?

(b) What is the standard error of the sample mean?

(c) What is the approximate probability the sample mean is greater than 0.87 g?
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2. Daily sales for a grocery store follow an unknown distribution with mean $10T (T=thousand) and
standard deviation $5T. (Hint: the following questions ask about the total sales where the total sales
are just n times the average daily sales.)

(a) What is the expected total sales for the month of April?

(b) What is the standard error for the total sales for the month of April?

(¢) In order to break even in April, the store needs at least $280T in total sales. What is the
approximate probability the store will NOT break even?



